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35 4 =& = 2| 2| 4H st =[jin]
CHot =% CHot =4 CHot =4 =4
1 XHAHE A
Edog 0.02 2l 187,435 3,749 3,749 |ZTHE AL 2022 219p
2EOH 0.01 ll 148,510 1,485 1,485 [Z&H= A 2022 219p
ZRaE L 2H[o| 5% 5 % 5,234 262 262 |Z&HA A 2022 219p
[ Al 5.234 262 5,495
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1. XFxyH|

REM PR /L2 H450 x @210 x @80 1 ea 12,000 12,000 12,000
[ A1 12,000 - - 12,000
2. ™x|H|

AMHES dA| 1 ea 5,234 5,234 262 262 5,495
ZEXFAH]| =2 H| 2| 5% 5 % 12,000 600 600
[& A 600 5,234 262 6,095
(g 41 12,600 5,234 262 18,095
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EH7t FH CHot =R CHot =R

1. XFxyH|
A HS/Let/ol H750 x @210 x @80 1 ea 13,500 13,500 13,500
[ A1 13,500 - - 13,500
2. ™x|H|
AMHES dA| 1 ea 5,234 5,234 262 262 5,495
ZEXFAH]| =2 H| 2| 5% 5 % 13,500 675 675
[& A1 675 5,234 262 6,170
(g 41 14,175 5,234 262 19,670
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?5%74|
EH7t FH EH7t =R CHot =R

1. XFxyH|

KM AR/ Lt/ 2| H750 x @210 x @80 1 ea 14,250 14,250 14,250
[ A1 14,250 - - 14,250
2. ™x|H|

AMHES dA| 1 ea 5,234 5,234 262 262 5,495
ZEXFAH]| =2 H| 2| 5% 5 % 14,250 713 713
[& A 713 5,234 262 6,208
(g 41 14,963 5,234 262 20,458




